R ELIRARE 5 Ay TREAR ISR http:/www.topmath.org T AR )
SIZ - A KRR
3-2 - Fu— RHAE
(L. =1EIEFIEHZ Jﬁlﬁ'{fﬁﬁ[[ﬁj » =) FETpE R Jﬁlﬁ'{fﬁﬁ[fﬁj ° ijﬁj_’ﬁ‘l'“ [EE 5 RS h=A0 5 =
WESETR > BSOS ¢ 90 ST BT 15 )
IR S 1 LI ARt T L

ST Ry (5 y[[[ﬁi_ o A RS
BYZ R TR 10 AR JF‘ R SR PR B
T REET 6 0 - i

9V WL SRR JEREN o R R BB — ==
NI R T ’%ﬁj@* fi=? B —

(A)TEPEB ORT 8 02 2 b (B) T BHIZIOA AR 2 2 i
(C) - BH prort i = 5 ‘ﬂd T (D) e B2 S *ﬂd il

7
(2 BEWHA(3r-5) 45 (x-2) = =2 OL5T 575 )

2 10 32 40
Wi B ©F OF

( )3 %F} F 37000 S E LAY 36 —x+7 =6 UiEdk 2 (91 S 1T 27 4 j)
(A) x=6x7+36 (B) x=(36—6)x7 (C)x=(36+6)x7 (D)x=6x(36—7)
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(A) (y+5)x500+200=4500  (B) yx200=4500—5x500
(C) yx500+5x200=4500 (D) %500 =4500— %200
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(A)%x— %( 2040 —x) = —30 (B)%x— %( 2040—x) =30

(C)%x—l— %( 2040—x)=—30 (D)%x—l— %( 2040—x) =30
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(A) 155—3x=2 (x+15) (B) 155—3x=2 (x—15)
(C) 155—3 (x—15) =2x (D) 155—3 (x+15) =2x
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(A)%x+6—x— 13 (B)%x— (x—6)=13 (C)x— %x—l—6— 13(D) x— ( %x+6) =13
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(A) 30x+50 (700—x) =29000 (B) 50x+30 (700—x) =29000
(C) 30x+50 (700+x)=29000 (D) 50x+30 (700+x) =29000
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(A) 15 (2x+20) =900 (B) 15x+20%x2=900
(C) 15 (x+20%x2)=900 (D) 15xxx2+20=900
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